Transistor

Panasonic

25B1207

Silicon PNP epitaxial planer type

For low-voltage output amplification

Unit: mm
4.0+0.2 ‘4477
B Features S
+ Low collector to emitter saturation voltageg(say L EL
o Optimum for high-density mounting. \ \ \ .
» Allowing supply with the radial taping. g
9
B Absolute Maximum Ratings (Ta=25°C) marking 37|
Parameter Symbol Ratings Unit 1 2\3 % £ d
Collector to base voltag VeBo -15 \% -+ é o ri}:::
Collector to emitter voltag Vceo -10 \%
1.27|1.27
Emitter to base voltage Vego \% 254015
Peak collector current lcp A
Collector current Ic -05 A 1:Emitter
Collector power dissipatig Pc 300 mw g;gzggctor E::;:%;g package
Junction temperature T; 150 °C
Storage temperature Teg —55 ~ +150 °C
B Electrical Characteristics (Ta=25°C)
Parameter Symbol Conditions min typ max Unit
Collector cutoff current lco Veg=-10V,E=0 -100 nA
Collector to base voltage Vceo lc=-1QA, Ig=0 -15 \
Collector to emitter voltage Vceo lc=-1mA, k=0 -10 \%
Emitter to base voltage VEeso lg=-1QA, Ic=0 -7 \%
Forward current transfer ratio hee™ Vee =2V, b= -05A% 130 350
[ Ve = -2V, = —1A? 60
Collector to emitter saturation voltageV cgsay lc =-0.4A, k = -8mA -0.16| -0.3 \Y,
Base to emitter saturation voltageVgg(say lc =-0.4A, k = -8mA -0.8 -1.2 \
Transition frequency fr Vg =-10V, £ =50mA, f = 200MHz 130 MHz
Collector output capacitance Cop Veg=-10V, E=0, f = 1IMHz 22 pF

*Iheg, Rank classification

Rank

R

S

hFE1

130 ~ 220

180 ~ 350

*2 Pulse measurement

Panasonic



Transistor 25B1207
Pc—Ta e —Vece Viaegay— lc
500 -1.2 ~100
Ta=25"C = Ic/1g=50
T 450 N =
€ Ig=—10mA = -30
~ 400 -1.0 —— i 2z
— —T 1 | | | —-9mA @
(¢} < > -10
& 350 i L | | 1 —-smA
/ |+ | [}
c 0-08 T ———-TMmA =)
o - L~ L—T"] | 8 3
= 300 - / ol — —6mA S
g \ e 7 —— ‘ <
G 250 N g o6 —]-5mA S
] 577 4 \ =7
5 \ o ] | —-4mA o
5 200 AN 5 P I 2
= N B _ o4/ —3mA 6 =03
8 150 N 2 [ | 8
5 \\ 8 = -2mA E-01
5 100 yd | 3
2 N -02 Ty s
S 50 N T - @ -0.03
(@] \ / %]
©
0 N 0 / ‘ = 01
0 20 40 60 80 100 120 140 160 0o -1 -2 -3 -4 -5 -6 2001 -003 -01 -03 -1 -3 -10
Ambient temperature Ta (°C) Collector to emitter voltage Ve (V) Collector current I (A)
Vegsay— le hee—Ic fr—Ig
<-100 600 200
b= 1/15=50 Veg=—2V Veg=—10V
= Ta=25"C
g 30 w 180 -
3 £ 500 ~ /]
> I 160 /
o 10 2 =
1<) @ 140
S = 400 o L/
o
s -3 % 3 120 L/
£ & oo =22 ™ £ 100 /|
© - =
3 < N % —T
& g —25°C NJ = 80
3 3 200 ™+ N 5
€ ° \\ % 60
5] I iy 2
I g ) g 40
§ L? 100 [
3 20
=
O -001 0 0
~001 -003 -01 -03 -1 -3 -10 -001 -003 -01 -03 -1 -3 -10 1 3 10 30 100
Collector current I (A) Collector current I (A) Emitter current Iz (mA)
Cob—Ves
80
T 1g=0
() f=1MHz
Ta=25°C
8
O 60
[}
2 50 AN
g N
S
S 40
3 N
g w 4
‘5‘ N
o
5 X \ NG
o
2 N
=z 10
O
0
-1 -3 -10 -30 -100

Collector to base voltage Vg (V)
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